=2
RO |

A fL1F B (REFHEELAX)

1. FEHE NHEER
2. IEEHS BIFEL4—11758
3. IE% I LSRRI B IS
4. ISR IFEMmRE/NMNUE HA
5. AfLH SH4ETH218
6. FE(Mi& 95,546,000 F(Fi5AA) 86,860,000 A(FitkE)
7. EAM A RS 86,931,318 MH(FiiAA) 79,028,471 H(FithE)
8. KiIgFIprEAE 73,461,883 MH(Fith=E)
[#a&ETmAER]) e

AMEL 2 éé) nug:) Pﬁﬁénuﬁﬁ )\*L@éé %&)@3&) =
#OWETo/ 100.00 11.00 111.00 85,220,000 1.30251
FR)TF_EE 100.00 10.75 110.75 84,400,000 1.31220 EHL
=B iR
[ffi& LAY D ST EE R ]

mE A D FMmEERE RV FIES
5 3f 5 =

A . ?ﬂlﬁﬁﬁﬁﬁﬁui ﬁb?ﬁ::’-iﬁﬁﬁ e LR R X, B
FOWETo/ 100.00 1.00 - 3.50 1.50 5.00 11.00
MF—EE 100.00 1.50 - 3.50 1.50 4.25 10.75
=B




